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How do we know one who sells - |IDR IDW 1Y IR NI IMRY DM
himself; We derive it from Socheer - Socheer

Overview

We know that an 2™2y% 222371 3"V is acquired with 703, from the P10 of 1n1pn oM.!
We know that an 171277 %K is 1002 m1p1 from the 109 of 779M.2 We know that an
¥"v who is sold through 72 to a PXw" is 1052 731 from the wp>1 of 12w 7% 701 *2
72y .3 We know that a HRWw% 1xy 791 is 1032 7391 from the mw 7771 of oW
7°0w. Our MooIN discusses the need for the various 2°109.

= Ay NP0 AVIND 599U 1I8Y 92193 NI “O9VNPa YD
>""w9 explained the w"m of 0w °2w; it says by a mxy 92y that 7575 2win2 2w
Y -

= 999V 99V NIYN 593 197 5%2 11199193 9N

And it says by 290w 5w 7awn 92 7''52 ¥11OR; we derive that just as by 72 1179 he is
acquired no33,” the same applies if he is ¥y 121 he is also 7032 7IP1.

n1voIN asks:
= £525)5 721¥ %2) INIPN G0N TEIVYIN NN 999V 99V 2D 19199 9NN ON)

And if you will say; since we utilize the w"1 of 935w 932w (to drive that a ¥y °0mn

1s o212 71121), why is wnIPR nBM necessary, regarding a 5733, to teach us that he can

acquire an 1002 ¥"Y -
- TNV 999231 99 NIV NIY PIVUI ¢na xapx 03210 T2 22X 1NIT 929V 99

Let us derive from the word 9°>w which is written by a gentile, 71w3 7w 95w>,

etc., from the word 7°>w which is written!® by a »R=w>% 9521 that just as a X W 1on1 is

032 13p3, the same applies to a 7317 (o1 -
= Doy N92) WI91975 NNNN INIYIY 9919

' R1,70 (m2) RO

2 n,%9 (o°Lown) Maw.

32w (A1) o2t

40w "7

5,0 (An2) X,

om0 (A%7) 21T

7 We know this from the wp>n of m12v% 72y (see ‘Overview’).

8 31 poo.

% The X3 utilizes the w"1 of 15w 3w regarding a 7"°2 1M1 and a ¥y 191 (which are both 78w), however MooIN
maintains that this "7 is effective to derive a PXWw>? 7911 from a 1217 10m1 (and vice versa).
19 See footnote # 6.
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And we know that a HR=w% =921 is 7032 7IP1 from an 7M2Y5 72K as the N3
previously explained from the wp1 of 712y nay.1

In summation; M5OI question is that we can know that an 2"5y 72%177 ¥"v can be 1022 731 without
N3P Aoon. We derive 2™M>ov? 1on1 from HX8W°% 1911 (through the w'"rx of 770w 725w [which we use to
derive 11y 10 from 72 1M51)), we derive R 7911 from an 7R (through the wpn of *May
7°72v9) who is 9032 n°pa (from 77971, We do not need the 1n1pn noon.

N1D0IN answers:
- 129593) ANYANA NIPI IR NIPI NI GO (0 91 9O 1PYATTIY 199 PIVDNT Y YW

And one can say that ynip» neon is necessary as we expounded previously that

NIpn nodn teaches us, that the ¥"v is acquired only with n©2 but he is not acquired with
‘grain and utensils’.13

n1voIN asks:
= 119990 PINYIY G0 1Py NT97) TIIVNIN INAN 9INN ON)

And if you will say; why do we need the p102 of 779571 regarding n®> 7°1p by an 71K

712v7; let the P00 be silent from it (it should not say 7779m) ~
- HNIWIY 99231 92y 1Ay NY9aY 9999

And we will derive that an 79927 7R is 9022 7371, from an ®R2% 922377 ¥'"'Y (through

the wp°i7 of 1772y% M2y -
= 999V 99W4T YU 15852915 121¥Y 99131 29a¥10 INIYWID 991930 193

And an X% 51317 72Y is 7022 71P1 for we derive it from an v121% “onR17 TaY
through the w' > of 7oow =ow.

In summation; we know a 2"12¥7 1271 is 9022 731 (from WN1pn A031), we know that a X 1on1 is
70232 13p1 (through 7°5w 7°5w), we can then also know that an 71°72¥7 7K is 1932 n°3p1 (from the wpon
of 712y% *12y); why do we need 779 to teach us that an ;7727 7K is 1052 NP

' See footnote # 3. We know that an 71X is 7022 n°1p1 from 779 (see footnote # 2).

12 See the X3 there that @231 ARIaN refers to 1°9°70 (an 72v cannot be acquired with P51 117, [Alternately the X3
there explains it to mean that if it is 7V MWwn MIND even if it is 2°721 XN (that ¥7°°NXRIT X2PR) it is not a valid PIp,
vy ]

13 After we have the w"T of 2w 5w we do not need 1n1pn Ao to teach us that a 2™3y» 7311 is 4012 M3P3 (however
we do need 1n1pn Ao to teach us that 0921 81202 7171 PR). The X3 states that we derive 7032 731 2"2Y 7011, from
N3P qoon because it actually states n3pn qoo7 (to teach us 2731 RN IR 1K), but we (also) automatically know
from this that he is 7952 f3p1.

14 See footnote # 3.

1S We know that a 0™2y% 7911 is 0232 711 from 1n3p» Hoon. Even though maon said that we do not need it for 702 7°3p
(we only need it to exclude 2721 7R12n), but nonetheless the P10o clearly states 1n3pn noan indicating that a *1217 721
is 1002 MP1.
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N1D0IN answers:
- 16D )IPIY KIPINK TYITY THAVEN RIN ) 590 PN Y Y

And one can say; indeed it is so (that ;7727 is not necessary to teach us that an 71K
772v7 1s 002 n°pl); however 779 is necessary for another w97, namely for
I-PR A PR

nooIn asks:
= 405 PIPY 193 992y TaYT RYIPIN TIIVNN INNAN 9INN ON)

And if you will say; why do we need the wp°7 of 392 to 17992Y regarding no> PIp

by 72 %98 -
- ©52999 72I¥Y 99139 18999 99 ‘15’)

Let us derive that 7">2 y11757 is 7022 73P1 from an v751% 2252377 3"V through the W' of
™o W ?!

N1D0IN answers:
- 199935995 T5908IN N93YY Y93y TaPT RYIPINT UMY Y

And one can say; that the wps7 of 92y to 792y (while it may not be necessary to
derive 702 1"1p for an 12y 72v, nevertheless it) is necessary to teach us -

= N8 1N 93y 4N 2009929 YYNID NN NN N9y NN
Just as an ;1992Y does not go out free from her master if he removed the tips of her
limbs, similarly an 592y 72y also does not go out free o72x *wx12. There is also another

7% in the other direction from 72y to 7"y -
$9999 1993y N 215299 WYa RY¥YY 2932y N

And just as an M2y leaves after six years so too an '92¥, etc. leaves after six years (even
if she is not yet a 77w1).2

16 103 1w mans a diminishing of money. 779 (and she shall redeem [herself] teaches that the 7R has the right to
return part of the money (pro rata) her owner received for her servitude and gain her freedom at any time. Let us
assume she was sold for six years for a total amount of sixty 17 (ten 11 per year), after two years (for instance) she can
return forty 117 to the master (for the four remaining years) and is freed.

17 We do not need the P09 of 779 to teach us that an "2y 79X is 032 NP2 (we can derive it through the wpn to
72y and the "W oW w"); however it is needed to teach us the rule of 705 w73, Once it is written for 103 13 we
can (more) easily derive from it 502 7°3p.

13 1t says 7°ow by a 2"10v% 19m1 (see footnote # 8) and it says 2w by 72 31111 (see footnote # 6).

19 See ‘Thinking it over’.

20 An »w1> 72 (Who belongs to a 7X7w°) goes free if his master removed his 272% >wRA (see 1-13,80 [D°vown] MAY).
The R3 later (X,2) derives from the p105 of (5,83 [2°0oWn] NMW) 2°72V7 NRYD KR¥N K2, which is written by an 7°12v7 7R,
that she does not go free 012K "wX"2.

21 See 1,2,%0 (@woWn) Nnw.

22 We do not need the w11 of »12v% "2y to teach us 403 PP by an ¥"y (for we can derive it through 93w ow); we do
need it for 02K *wX1 and ww. However once the 770 writes the wp*1, we can derive from it 103 1P as well.
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Summary
Once we have the w"1 of 7°Ow 70w, it is not necessary to have all three 27112 of

TN2YY May Wt a7 ,INIpn oon to teach us respectively, that there is a 102 1Ip by
¥"y ,M2vn ank ,0"MoyY Tonl; however these 0°P100 are necessary for other nwAT.

Thinking it over
nooN explains that we need the wp»i1 of M2y *7ay for 02X WX and ww.? Why
did not N1dOIN mention that the wp° is needed to teach us that an ¥"v is qvwa m3pa?!1%4

23 See footnote # 19.
24 See (previous 2°X171 71"7 'o1n and) X"y
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